Nan Chiau High School

Physics Syllabus 5059
2014 Secondary3 ‘O’ Level


Assignment 4
Four Equations of motion  
Name: __________________ (       ) Class: ____  
Date: _______
Mark: _____/26
The 4 equations are ____________, _____________, _____________ and ___________.
The condition is the acceleration must be constant.

1
A body moves along a straight line from A to B with uniform acceleration 0.670 m/s2. 


The time taken is 12.0 s and the velocity at B is 25.0 m/s.
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Find

(a)       the velocity at A,


(b)
the distance AB.  

2
A cyclist traveling downhill accelerates uniformly at 1.5 m/s2.
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If his initial velocity at the top of the hill is 3.0 m/s, find

(a)
how far he travels in 8.0 s, 

(b)
how far he travels before reaching a velocity of 7.0 m/s. 

3
A stone slides in a straight line across a horizontal sheet of ice. It passes a point A with velocity 14 m/s and a point B 2.5 s later. 




Assuming the retardation is uniform and that AB is 30 m, find

(a) the retardation,
(b) the velocity at B, 
(c) how long after passing A the stone comes to rest. 

4
a) A car is being driven along a road at a steady speed of 25 m/s when the driver

 
suddenly notices that there is a fallen tree blocking the road 65 m ahead. The driver immediately applies the brakes giving the car a constant deceleration of 

5.0 m/s2. How far in front of the tree does the car come to rest? 


b) If the driver had not reacted immediately and the brakes were applied 1.0 s later, with 
                 what speed would the car have hit the tree? 
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